

$$\frac{-1}{2a-5} = 7 \quad f(a) - f(-1) = f(a) - f(-1) = 1 \quad 1 \leq \frac{a}{f} \quad (a-1) \cdot 1 + 1 \cdot 1 \leq \frac{a}{f} + 1 + 1$$

$$\Delta = 1 - 4 \left(\frac{1}{f} \right) (7) = 4$$

$$x = \frac{-1 \pm \sqrt{4}}{\frac{2}{f}} = \textcircled{4} \text{ و } \textcircled{-5}$$

۱

$$m < 0, \Delta > 0$$

$$f(a) - f(m) \cdot f(m) > 0$$

$$\frac{2a}{f} > m^2 \quad \frac{a}{f} > m > \frac{-a}{f} \cup m < 0 \rightarrow m \in \left(-\frac{a}{f}, 0 \right)$$

۲

$$x^2 - 5x + p$$

$$x^2 - 7x + \frac{f}{q}$$

$$S = \frac{a - \sqrt{a^2 - 4p}}{2} \rightarrow \frac{a + \sqrt{a^2 - 4p}}{2} \leq 5$$

$$P = 1 - \frac{a}{q} + \frac{f}{q}$$

۳

$$S(x, y)$$

$$ax^2 + bx + c = 0$$

$$\frac{-b}{2a} = 2$$

$$f(a) + 2b + 2c \leq 9 \quad b = 4$$

$$-x^2 + f(x) + a \geq 0$$

$$\frac{-b}{2a} = 2$$

$$x \in (-\infty, -1) \cup (1, +\infty)$$

سوال ۵

$$2a^2 + 2b^2 + a^2 - b^2 = 12$$

سوال ۶

$$S - 2P) - 5($$

$$\frac{1}{a} + \frac{1}{b} \quad a^2 - 14a + 9b = 0$$

$$\frac{-1}{c} \rightarrow \frac{2}{14} = \frac{-14+9}{14} = \frac{-5}{14}$$

$$\frac{9b}{a} = a^2 \quad a^2 - 9b = 0 \quad a = \pm \sqrt{9b}$$

$$\frac{-1}{a} = a + b \quad a^2 + 9ab = -1$$

$$9a^2b = -1$$

$$b = -\frac{1}{9a^2} \quad a^2 - 14a = -14 \quad b = \frac{14}{9}$$

6

7

8

$$c = 5 \quad \frac{-b}{14a} = 5$$

$$-10a = b$$

$$10a + 14b = 7$$

$$b = 7 \quad a = -\frac{1}{5}$$

$$\frac{-9}{4} + 14a + 14b = 0$$

$$\frac{1}{a} + \frac{1}{b} = \frac{a+b}{ab} = \frac{7}{-14} = -\frac{1}{2}$$

$$b = \frac{7}{-\frac{1}{2}} = -14$$

$$5 = \frac{-7}{-\frac{1}{2}} = 14$$

9

$$1 - 14a - 14b + 9a + 14b = 0$$

$$14a^2 - 14a - 14 = 0$$

$$a = \frac{1 \pm \sqrt{17}}{2} = \frac{-1}{2} \text{ or } \frac{3}{2}$$

$$a = 1 \rightarrow a^2 - 14a + 14 = 0 \quad a = \frac{14 \pm \sqrt{17}}{2} = 1 \text{ or } 13$$

$$a = \frac{-1}{2} \quad a^2 - \frac{1}{2}a + \frac{5}{2} = 0 \quad a = \frac{\frac{1}{2} \pm \sqrt{\frac{17}{4}}}{2} = \frac{1}{2} \text{ or } \frac{3}{2}$$

10